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1. Nathan has 45 cats. 37 of the cats are brown and the rest are black. How many of his cats
are black?

=

2. Nadia has 19 fewer kiwis than Robert. Robert has 58 kiwis. How many kiwis does Nadia
have?

=

3. 35 oranges are on the table. 28 of them are green and the rest are gold. How many oranges
are gold?

=

4. Chris's mom gave 34 berries to take to school. Chris gave 16 berries to his friends. How
many berries are left over?

=

5. Michelle has 78 plums. Jordan has 84 plums. How many more plums does Jordan have
than Michelle?

=

6. Maya has 29 kiwis. Miranda has 67 kiwis. How many fewer kiwis does Maya have than
Miranda?

=
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7. Jack has 81 sheeps. 32 of the sheeps are gray and the rest are brown. How many of his
sheeps are brown?

=

8. Sabrina's mom gave 94 oranges to take to school. Sabrina gave 29 oranges to her friends.
How many oranges are left over?

=

9. Michael has 49 oranges. Vivian has 65 oranges. How many more oranges does Vivian
have than Michael?

=

10. Jay has 28 plums. Jordan has 36 plums. How many more plums does Jordan have than
Jay?

=

11. Jasper has 17 bananas. Sofia has 21 bananas. How many more bananas does Sofia have
than Jasper?

=

12. Logan has 47 pears. Anita has 86 pears. How many fewer pears does Logan have than
Anita?

=

Name:______________________________ Date:____ /____ / 2025     Start:____________   End:____________
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